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Conduct the Project Network
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Example 3.7

Draw the arrow network for the project given next.

Activity IPA Activity

A — H C,D
B A I D

C A J E,.F G
D A K F, G, H
E B L H, |

F B, C M K, L

G =
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Culled ES EF=ES+D LS=LF-D LF TF
A 0 0+5=5 6-5=1 6 1
B 0 0+6=6 6-6=0 6 0
C 6 6+10=16 16-10=6 16 0
D 6 6+3=9 16-3=13 16 I
E 16  16+5=21 21-5=16 21 0
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15. Draw both the arrow network and the node network tor the tollowing project:

Activity IPA

OTMmMoOOm
Omm> > > |

mo
-

16. Draw both the arrow network and the node network for the tollowing project:

Activity IPA  Activity  IPA

A - F D

B - G D, E
C - H C,EG
D AB I C, G
E B J H, |



TF= LF-EF (| LS-ES)
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EF=ES+D LS= LF-D TF = LF - EF FF= ESjk - EFij

cds D ES EF LF LS TF FF

12 4 0 0+4=4 8 8-4=4 4 4-4=0
13 3 0 0+3=3 3 3-3=0 0 3-3=0
14 5 0 0+5=5 10 10-5=5 5 10-5=5
24 2 4 4+2=6 10 10-2=8 4 10-6=4
34 7 3 3+7=10 10 10-7=3 0 10-10=0
25 5 4 4+5=9 20 20-5=15 11 20-9=11
36 8 3 3+8=11 22 22-8=14 11 15-11=4
45 10 10 10+10=20 20  20-10=10 20-20=0
46 5 10 10+5=15 22 22-5=17 7 15-15=0
47 2 10 10+2=12 32 32-2=30 20  32-12=20
57 12 20 20+12=32 32  32-12=20 0  32-32=0
67 10 15 15+10=25 32 321022 7  32-25=7
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Example 4.2

Draw the node diagram and perform the CPM computations for the schedule
shown next.

Activity Duration
Start A - 2
B A 6
c A 10
D A 4
E B 7
F B, C 5
G C.D 3
H EF 5
Finish (O G, H 2
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15,19
Figure 4.7 Node diagram for Example 4.2.
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75






Activity Duration Estimating leidlad (yloj Do 3597

Soilo ) o solwl s CJT JooSS (gl oY Floj 0590 dluad yuoski MT)S adled oy a)gT,.g
Al 0 059

gs IS

] dmnly T as jLas ] 5o aolio g adls Ko 1yl gy 4 cadlzd ylo ) oo —)
39 1l gk bl 0 ylasbiwl g (luss ©jga Ledlad (Jloj walg Y

oo oid bl a5 g adciud HAis yg0 (Working Days) (g5 s jg, eadled o) oo ymoss jo Y
Dgu aslinn Called p (Judasd' 5 6H1 Lo j3)) 3B m ok a5 ol o3

gl gl 39 5y I s ek dled oy oo —F

s ailo 4B yio gl BT g Aigis o 41855 aiyd Jgoro Loyl pih Ldlad los o 35T 39 50 -
55 oo Bl Wi oy sy BBl 45 &35 g

77




e 65 o b 31
oIS 1 Y
S b9y 9 29,5 Syl -Y \

SN Bilgnw 31 o5liiwl —F

Cdled lo j Do yuoRi (5lgaiug

F5735 (51321 &4 Cullod (pinSls -

78



Activity Duration Estimating

Ledlad Gyloj W 949 3

Cudled loj Do paoRd (glgaing

A 4

Clled 5,5 pxo @250 51-)

o w8 30 b bl yy g 0uls (g S oIl Cadlad (6,5 poxe laul g (il 5o

S gl 0 9591w Cadlad (yloj Wzl 5,5 s Ulgd g

sJbo

Duration=5days

651 Po (5j9y @0 2blgs

A

4

031 1 oo 15 1S p2>

Duration=3days

S m35j9y ;@Ko w2Llgd

A

JJ93L P il

€

S0 jiol 0 1518 P>

l5J|bJ..LSL'? :;u.”&é
(0




Cdled lo j Do yuoRs (glgaig

(it 18" ol L Y

Duration=120days 9 o 68wl >l 4b :uled

Duration=18days S oS I US yass 45 :ulled




Activity Duration Estimating leidlad (yloj Do 3597

Cudles loy Do oS slgang

\ 4

SO (495 5 295 syl -

3 g,y plosil Jal pe

w‘ob).{ .)LQ(u.w.: UOJ.) 0”9) fobu‘ ,_5‘)) ]) )J) J>‘)A (FaWIe 1978) J9L9
) u.o.])fl?o‘).’u)ua.: |)>1MJ.¢.§.‘.»)

Jsl 093 slp 4l Gy wlas slaclad (cilul ol 0

(g (bl ©lolegl @8)) 65tdgh 23 5l 4ol sy (w2 ®

i sbacl 4 dob o p cpsiwss o)l @

CanS 590 ) odpay Sbaguwly 55y

(36 2090 sl S5 L) po> 490 ask g 3,8 0kl

LQL,&A.Q clacl d‘).’ £93 )9O Aol L}uwo).: Jl.w)‘ ®

ool (8l slagual o (o)lul & Pl B JIV Jolpe) 293 593 53 0dpw) slagwly 55Ty @
(Ll

K555 05 Lo IS csslonsld



https://fa.wikipedia.org/wiki/%D8%B1%D8%A7%D9%87_%D8%A7%D9%86%D8%AF%D8%A7%D8%B2%DB%8C

Activity Duration Estimating leidlad (yloj Do 3597

Cudles loy Do oS slgang

A 4

SO (495 5 295 sl -




Activity Duration Estimating

Ledlad Gyloj W 949 3

Cudled loj Do paoRd (glgaing

A

y

SN G3lguw 31 0oLl —F

Sledled (bl 9 oy Tl 9 wismo LS rojgy Azl &5 (Joge 4o
odliiuwl cudled plxil yloj o (e 50 Ll Galgaw 51 (g (o0 Al o Cud wilon

JoJ Es= udled Gloj o 5 9T

{

-9 g0
St pules (% 5 @lgw
Geowo | plodt )b | Egm sl | B9,
f. 'SIARIAL M/ \
& AY[+€ /) AY ¥\ Y
A AYISBIYY | AY/oF/+ v

83



Culled Gloj o oSS slgaiig

D o0 (it Cadlad oy Lo LQJT obwl e g

O: Optimistic
P: Pessimistic

M: Most likely

Sligig
sl

Josxo

—

Duration=(O+4M+P)/6

84



Cudled gloj o (oS slgiig

7558 (o132l 4 b (Sl -5

Cadlzd oy e LT (40,5 a2 o b g (i 1) Sy oo 0l 4573

Bg0d 3591 g 1y Lol

W) 5535-».0 YL" C’.‘a.w ) WBS a5 el 6.'3‘9.0 ) L"’S) CJ"‘ 0).3)‘5 O '?'.'..’

g o0 0BT (630 3ol p s W W ygus g

85



ojgﬁ @Lo)’ Slow|

& iy iy,

03952 5 >lo j Cug> U slgudg g

Ledled ¢ylo ke 0,59

0359y S5 m o

86



2S5 ) Y £193

0,5 3l (2> sop bl adl Sloj bliyl sam clled plul b Sulled gg0 auils @
bl gam cdbd b cdld bl 519 93,500 )8 958 a4l jlacdld ol b bl
D9d (oo @B bl 4l 1 g0 sla s il adly Slos

bogord 4l Bk jl (an) pod cllad 4 bgaje 0)5 0 (03959 Jbp i (o2 40
29 o 25 05 ol 4 okl
Dgw (0 by dold] 43 a5 wad Fy Sl Sow Sl F s ol jo

(Degs colad g9, L (1) oo clad g9,0 > cpl )0 18900 & Eg,0 Al
IS o waldled g0 cpl o bl lo g e,y 4ty )b (SS aail)) sl Sy alal
Collad gg,i Al a8ly adads SO 5l jauie Yo (Sl jo .l ool @l g
Olee S5 3)l5 ] (0)5) collad Eors 4>l p aBly abati So a4 5 )5 I (2,9
i Zewl 0l alleh Yo 59y 2 barpe U

87

\4
S s




25 ) Y 193

Lo, (J) pgo called (bl b (1) 050 culld g9, asly 1ol & g bl (o
Lolys 53 Ygere 35 qusy olgh (o 325 JSb ©yg 1) gl o {SF) wsly asly o

J

D35 wod 8 con dyg0 (2,5 (sla AS D g Y o Fy (600 Hla

Site 33U L J cldld g9y5 LT edld (bl Sloj alaly 5l diges S 189m0 49 UL (&

»
>

J

.39..»

88



2S5 ) Y £193

Clleb oy g el cbly 41 d52g el S0 5 Al 5T 05l & iy (5
30 1) ] 1 (slagled 1y (log oy iz 25 S5 o g el L L oS
i

o (e9pd L) JeoSS o bl el loj BBl claQ U ound (652, doliyy pa U
) it Bly (sl ol S 51 o 31 ey ol ((JpaS5 L) 55 5 ol

395 Hhiin cullad 51 i Slgn cdld G o8 pa tlead b sud g3, dolip Jusad
D9 o odld slii e Lag L Lead b jlude ol g skl

89



tlgilo j Ol

Cod o 0595 50 idled slladi] &S Lswn S Lol opl p Glasle oy
bilg, g5 diws A0 (gjliiins o elp (o0 <5 ) (ESD ale ®

o2 ) (o3l
« FaSh: ESb = EFa+FaShb
e SaSh: ESb = ESa+SaSh
« FaFb: ESb = EFa+FaFb-Db

S0 (Sl (5 Al i ST g sl jho pln BES 9,8 b 4l 0

EFb= ESb+Di

90



sleilo j luwlne

s 5lidy
« FaSb: LFa= LSb - FaSb
« FaFb: LFa= LFb - FaFb
« SaSh: LFa= LSb - SaSb+Db

gosd 2% oI LF ply Sbb cdld BF jlade iS5l <8 m 90
ol (g polaa Jolis ply LFD Toles 0k 0990 (gjlidin dlaly 2> 5]

Al o Cands bl ol 5l oS
LSb= LFb - Di

91



ErEN

:Total Float (TF) cuWd Js' ¢ 9Uus
o (3255395 4 Caus Sy o Cled G &Sl o e cllad S IS (55l
A8ly ;U 059 S saisle) aSSl (g 398 £9 )b 5> g

TF =LSi - ESI

OR

TF =LFi - EFI
: Free Float (FF) »131 (g9t
093 398 plad 5> il (gaiile) 99395 A Cund Wilgi o Cudled S oS cwl Slej e
: : : 3,3 S b culled i) oSS

FF = |\/||n{ESJ} - EFi 2100y b (G (6 D2 (Chplo)

J=1 5 e sl b asgoo }

92



GBS 68k > JS (5 9Luks

Activity 7 <E>

Total Float

LS=7 LF=9

<£> Activity 7

Total Float

TF=LS-ES o TF=LF-EF 03




GBS 68k > JS (5 9Luks

2 2| 3 3] 2| 5 5 0 9
0 010 91 0] 9
Start Finish
0 010 91 0| 9

O 5| 5 5/ 1] 6 6| 2| 8

5 §) 7

0| 0|5 6 |1 |7 71119

T
Total Float

94



Project Scheduling 0395 Swilo)

DS 63 > ST (5 gl

FF=MIN(1)-1=0 FF=MIN(5)-3=2 FF=MIN(9)-9=0
0] 1|1 1] 2| 3 S| 41 9
> 2 > 3 > 4
0| 0O 91 0| 9
Start » Finish
0 ]0]0 FF=MIN(5,5)-5=0 FF=MIN(6)-6=0 FF=MIN(9)-8=1 9| 0[ 3
0| 5| 5 5| 1] 6 6 2| 8
S y 0 7
0| 05 6|1 |7 71119




L bl 1) 50595 (gdislej Il

Example 5.1

Perform the CPM calculations for the network shown in Figure 5.22.

/ \

1 \\"\,
\ \ Sy G
A \ 3
2 \ +
\ E
\ » 4
1 C 5
...................................................................... * 11
F 4
8

Figure 5.22 Network for Example 5.1.

10. Activity F is dangling. It is preferred that we connect its start to the
start of activity A, which will not change the calculations, but the 96
author wanted to show it as dangling for the purpose of illustration.




o colleb 0 pllal B st (1555 | sl

0 0 Figure 5.26 Network for Example 5.1 with contiguous activities.
97



oS a3 3 1) GlK S sleuly alb ¢ Jle

sy las Dgd dbul 95068 Dlalad WJei Cps glails S &S Conl ol ) b0
el Dy loj gy 70 &5) A (b o5 conl oY ) o plool
A, cale culled wigh g AleT o cullad g0 ¢ Sb plod] 51 g
slaedld pladl 51 (g (o) ¥ (b) ¥ lpple 23 clled g (59, VA ()
O SY pdle (g5l oly g cuad Y pdile s e g A8 colw

D9 s pbl o) Yo (b 45 )8

gl s |y Lgdlad il 655l 9 JS (659l pizman g (saisle]

98



oM o] | o Y60
START [P ks ok
o/lo/o||o]o0]60

60

240

s, cal

160

0

240

60 gelol 90

Oeole Sy )3

|210

150

240|

240 ) e{0R 270! 1270 270
&3l olyg cua FINISH
240 O (270] 1270| O (270

99




Project Scheduling 0395 Swilo)

DS 68l S (g3l
0 1|1 1 2| 3 5 4 9
2 3 1 4
2 2| 3 3| 2| 5 5 0 9
0 0|0 9| 0| 9
Start Finish
0 010 91 0] 9
0| 5|5 51 11| 6 6| 2| 8
5 6 {
0| 0|5 6 |1 |7 71119

100



‘GANTT CHART @,lo cil8 — 054 9 (ekimilo § (1 dlwo 519909

]

S s ) ) s aSub Lojs

0]5]5 5|27
A > C
0015 5|07
0/]01]0 81018
START FINISH
0010 8108
0]3]3 3114 /71118
B > D > E
212|5 6|37 /71018

101



GANTT CHART S 150

0 2 4 5 ) 8

wlles o l 6 | T | 8| 9 | M0 | G 11 | W12 | W13
START

A

B

C

D | B |

E —
FINISH 2

Olo) ¢y i oy E——

Ole) (2339

102



Gl slgidled Guusi b 2ol jlages

0

ok 6

1

okl 7

2

oLl 8

3

9

A

k]

5

oLl 11

oLl 12

oLl 13

START

A

B

C

D

E

FINISH

u'l’l)z'-’ slaullesd I
SRt Slulles FE—

103



104



0592 JHS 9 (52 00U

0J9 2 JiS =P o jlosis 09 32>

S U 9 gm0 gaof 0Lt

105



106



0591z J4ES g slowsido

| J..?'
0595 S 33T,
0593 JJiS g (532 00b 3o sl il ;8 bl JHGS 9 (500l g3 5> Siuod 655>

¥ 107



0592 J S Sl 8 o j2i

ool pladl oyl

A

Action Monitoring

A

Jl25 g duugldo

Comparing& Analysis

108



0395 Slboj J S )

6J92 J S > pguw yo (slgl jiasS

0395 & phany J 5 Y

A

059 Az b J S ¥

A

0393 CardnS Jyis ¥

A

109



03593 J S Wl 48

Project Control Process

0912 oloj JyuS

9290 byl a9 4z gil LT WS g0 (quwyp 035 1oz w00 &5 Canl guisT B 039 Siloj J S
Tomw ) wplgs ploil as (DasElNe b adsl (g3 5 4ol )y 5o (ylo 30 039 5

3 ) OYlgw a 168 0 @398 Jlgmw 4 Fwly o ogdle cofgy (Sloy J oS (LSST (655 500 31
8l Fwl

fubl oo yudr Jo8 byl el jo 0jgp ((Solslel> b 9) mal (5o @

Clamn ol He g a8, aly, oladled an 5l jo50o b coud sl jlao 059y 4SS jg0 jo @

(P oo )) S wus byl il 30 059 us giuilo) aols @

£1]

Tl yudd (g ladto 4z 4 Losdlad (55l g ol oS 039 3 Wor (Sl o €
110



9. o j Ui

Ty Callad (bl (xBlg g ,U oty plodl 4 45 Ty 50 Tl ougmsy ploil 4y called LT

¢! ouslo ‘;b QT ‘_g')e‘ QLo} }‘ Cd0d> (O 3 'ol.o.?l A g ol £ 9y ‘;..Jl:é as < I )a@

111



Project Control Process 0395 J S Wil

091z oloj J S sl JUio

0 1|1 1 2| 3 5 4 9
2 3 1 4
2 2| 3 3| 2| 5 5 0 9
0 0] 0 91 0] 9
Start Finish
0 010 91 0] 9
O 5| 5 51 11| 6 6| 2| 8
5 6 {
0| 0|5 6 |1 |7 71119

0395 &N (B 5 S -



Project Control Process

03593 J S Wl 48

0592 w310 U s JUio

(&89 Sleilo) o 999 bl ) 039 99 <ol H10 903

A5/ pb

11
U

1P 1 11 10

19

Start

OO0 B~ |W

7

Finish

113



Project Control Process 0395 J S Wil

091z oloj J S sl JUio

10g o0 Bl 53 oS OleMbl Jolds (28,155 (03932 E95% 51 (e 39y 4w) (o2 W E590 LG 5o

L b Ao G s G
crues R GRS R e g
oilously <*Slg >33 "
ol Ve oode Ve v
VWV el AN celo
Crode VY RLYYAN v
VWV eeln AN cslo
‘o |V
¥ _ e A
AN celo
Nl oulis &g Lsdled e
114




Project Control Process

03593 J S Wl 48

0592 w310 U s JUio

N\

N\

ANE //3 2\5
4
I 516
6
0] 0[5 617

9

9
91 01| 9
Finish
9] 0| 9

8

9

115



Project Control Process 0395 J S Wil

091z oloj J S sl JUio

ty) 69y 2 ol Slawlxe plxsl g oy us SleMb! wlul p A5 o 55

71 4] 11
= !
77 0] 1L
3T 0] 3 TI] 0] 1L
Continue Finish
3703 1] 0] 1L
3T 417 7T 1] 8 8] 2 [ 10
5 6 {
3707 81109 911 |11

116



Project Control Process

03593 J S Wl 48

0592 w310 U s JUio

039 Plig) <ol5' 51909

s | v [ o e e [ [ [ |y
Cled | e | e | o | oo | oo | e | o | ok | e | e | O
Start ¢

S —

3

4

- —

T 1 =

e B 1 B B e e S CS
Finish D

/ t,__!ng ool /— :(LegendS) TPy Z}:'
(roBagy 6ol 1) 03 (5555 L ol

117



1679 4 (5 )Lw pBags Jlio

595 ¥ Ol 3 5 00d g w2y oy 5l B b ¥
Cawl 055las8ly

Mad, s 4 g odd £9,0 Y g, 5l C el Y
ool 035logBly 1 51 5oy ¥ Mo 5l Sy

sl plol BB jo, A loj b F cllad ploil ¥
(j9, 0 s> &)

ool odd odd IS 43 J cuJlad slul 0

Gy ey ¥ olos L P el spis el £
K bty (005 g 03 F jliiy o5 095 (0

118

Haled s 1y 05 JueSS p B0 o



0912 oo j JoS sl JUo

(Cowl 4Bl 405> oot ¥o 39y 30 (po2 VA Sl ) .l ous Jloj b 395 90 sl 0590 @
el 009 & Cadled £908 y0 Bl Sy 0jgy 039y 90 U@

o &yl B il H1og05 40 059 W (giwilo) 4ol @

LS4 a5l 50 b cadlad wyuer (5)5led bl (o0 B9F ledllad (TaS 039 5y i (Flp yrao @
ol 00 _yadiins

119



Project Control Process 0395 J S Wil

09z 8 puiliy J S P

W o Ul aiS 0 oy 0595 1yl D )0 a5 Gl (guiuT 8 059 Cd i J S °
o yd Tl oyls (Salad guiwilo) aoliy b (owyy alalo ) ojgp 5o ouls plxil

T8 o0 oolaiw! Al (pl |08 ol ol ylee d 059 9 Cd i)

Al oo B cudled & (Weight Factor) 28039 )5 cd ey J yisS plxil douiio

120



079 gz a8 puiluy J S

Cudled o D3 jg (Lo

Cadled loy W b
Called 6,5 v «
(39— y85) gslo 31 oL 2
bbb,k .

B9 3)lg0 3l (oS 5 2 121




059 2 28 piery |J S

Yba ol 5l

A

RELERLE

A

122



059 2 28 piery |J S

Cudlesd Sy i iy buuwlzo g

Cadled o0l (6 gw 3lo) 2oy

oy ool 65 o> w0yd [

odu ool eL’».o RWPK

A

o plxil a0 3 wo 5o <

A

«s‘“w)ls Pt

123



059 2 28 piery |J S

0590 b g duo 0 =) (Codlad 8 pienas ,8) (Colad =39 o)

by Clled aan

124



Project Control Process 0395 J S Wil

69 y2 <8y J 1S (gl o JUio

03959 <Ol y1o g0
aslpb [ X \Y X3 X: \ \$ % \A Uil
Sl | e | e | e | e | e | e | e | o | e J9
Start 4 0
2 f— 0.067
3 I 0.133
4 0.267
5 0.333
6 — 0.067
- I 0.133
Finish P 0

125



Project Control Process 0395 J S Wil

69 y2 <8y J 1S (gl o JUio

10g o0 Bl 53 oS OleMbl Jolds (28,155 (03932 E95% 51 (e 39y 4w) (o2 W E590 LG 5o

Cd pdny Juo 90 Loy <o “Lb 7 ,b o 7o b
e, . ) O )“-‘ ol C—’) &9)-“”6-1) codled oS
Cdled owilowsl Ll 9 "
ok ) ok )
X\oo Y
v el A el
Crode VY REYYRL
Z\oo \
VWV eelw AN celu
: \Y
AR i - i 5
AN celu
R Al ouuts & gy Lpsdled L

126




67942 iy J S (gl o JUo

= 26.6%

127



Project Control Process

03593 J S Wl 48

0392 (5l 60l 8 il J S (sl JUio

140l 3 SO gy
P &bl

100%

100%

100%

0%

60%

0%

0%

ojgﬁ:uﬁ@)'éﬂ
oSGl e | N | Y R [ AF | 0 | Y| A
Clled | 0@ | 0@ | 00 || 0@ | 0@ | 00 | 0@ | 0@ | 0@
Start g
2 [—
3
4
5 3
6 —
7 S —
Finish

0%

128




6§94 <8 piluws J 410S (gl o JUio

= 40%

0595 ol wo 0 = 40% - 26.6% = 13.4%

129



059 2 28 piery |J S

S-Curve 0394z “ud piny 59 ylagas

60
50 £

40

- A &
ﬁm

T8 S140b 3 Sy

20
10

130



Earned Value Management (EVM) 20U S g )‘ e 90

1y 3 | 395 0jgy Alst &5 Canl 5] b ogy leitsd Lol (ol 420§ So @
Aiiluyy b ol 03y janast dedg g ekl e s ) (chile

©95 B9 o ple g dAuje Cupde qloj Copde duy dw (gilw d2ylSo LEVM e
shrl Gl ly Bge & Ologeuai SB31 g 0fg SOyl Cundy 355 (55 ol (%l
S5l on ol oMol Lol

0595 ($3900% Ol (Hlg Lyl g adgl Aol duslio L b aS' LS o SeS™ hg) cpl
B e e T I R e R B
2bisl 4908 awlie ol pbl (Hly Cumdg b |y adgl aclyy (lgiee otoliny
CBLCad gy Ll Mgy 5l (6,5 0pbg)

131



(CV)ezszo il

0391z 3z jd J S

Earned Value Management
(EVM)
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Actual Cost for Work Performed (AC) ACWP «
EV —AC =CV
Budgeted Cost for Work Performed (EV) BCWP |« S3isle) Sl =il
EV - PV =SV
Budgeted Cost for Work Scheduled (PV) BCWS |« 132
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BCWS=550 ACWP=480
Sl 00l (9 dd o LT couls 7y ) yio yludo jI peS Jgy aolg Ve

BCWP=100+300+50=450

el 0l Z 5 ol d8,F i 10 ds 0 )l s Jg v lg Ve (s

CV (Cost Variance)= EV — CV = BCWP- ACWP=450-480=-30

SV (Schedule Variance)= EV — PV = BCWP- BCWS=450-550=-100
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Project Control Process 0395 J S Wil
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*Schedule Performance Index (SPI)

BCWP = 450 = 0.81
BCWS 550

{ > 1.0 indicates more work has been completed than scheduled to date}
{ < 1.0 indicates less work has been completed than scheduled to date}

 Cost Performance Index (CPI)

BCWP
ACWP 480

{ > 1.0 indicates that work accomplished has cost less than planned}
{ < 1.0 indicates that work accomplished has cost more than planned}

0.93

I
AN
o1
o

I
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Perform an EV analysis. Note that the “Mass Excavation” line is a sum-
mary of the 3 lines below.

Solution

The solution, using the equations given in example 7.3, is tabulated as

follows:

Activity TOB11110 TOB11111 TOB11112 TOB11113

TOTAL BUDGET ($) 176.500 50,000 44,000 82.500

% COMPLETE 32.63 39.00 15.00 38.18

ACWP ($) 59.700 17.950 5.850 35.900

BCWP ($) 57.600 19,500 6.600 31,500

BCWS ($) 66.188 18.750 16,500 30.938

CV ($) ~2.100 1,550 750 —4.400 ice

SV ($) ~8.588 750 ~9,900 562 he

SV (DAYS) ~1.95 0.17 —2.24 0.13

CPI 0.96 1.09 1.13 0.88

SPI 0.87 1.04 0.40 1.02 -

FCV ($) ~6.436 3,974 5.000 ~11.524

FSV (DAYS) ~5.96 0.44 ~14.96 0.33

Mass Excavation ~ TOB11110  39.000 176,500 13,200 59,700

Common Earth ~ TOB11111 20,000 250 50,000  7.800  17.950
Clay TOB11112 8,000 550 44000 1200 5850
Rock TOB11113 11,000 7.50 825500 4,200 35,900
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Budgeted cost at completion BAC [«
Estimated cost at completion EAC

Cost Variance at compilation = BAC - EAC
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Time - Cost Tradeoff
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N=7
C=5,

, $50,000
$62,000

\ 4

B

N=9, $80,000
C=6, $110,000

Start

Activity A, $6,000/wk
Activity B, $10,000/wk
Activity C, $5,000/wk
Activity D, $6,000/wk

Finish

C

N=10, $40,000
C=9, $45,000

\ 4

D

N=8, $30,000
C=6, $42,000
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13,19

Cycle 0 (I:efo_ra crashing)

Path? Duration (days)
ABEH 24
ACEH 25
ACFH 23
ACFG 24
ADG 23

2 When the letter representing an activity is crossed, eg., F, it
means this activity cannot be crashed (such as activity F) or has
reached its minimum/crash duration

/

7,18
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Entry is area A under the standard normal curve from — to z2(A)
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=P(Z<15)-P(Z2<-1.5)=0.93-0.07=0.86
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